—x—2

x4+ 3y

-2

x+ 3y, 9 :

® .

-2

3y, 9 -

@ =9 -

—x—=2

x4+ 3y, +H

® #H .
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ol 4= x 9] 4 Hjo] 3 & BT AL 5 o4 o ® 5= x B W 5]

3 Hj et 2

@® 4x+3=5(x-3) @ 4x+3=3(x+3)
@ 4x+3=3(+x) @ 4x+3=3(5-x)

® 4x-3=3(x+3)



3. Te<HIl>olH AL BE DEW?
(1]

@ 3x+2=2x+3 2(x+3) =6+ 2x

® 2x+3x+4=5x+4 3(x-1)=3x-1

60,6 206 006 ®6e 00,6



4. 5A dxt1=-2ar+10] F5H0] HES ok 4 o] 7He?

D1 @ 2 ® 3 @ 4 ® 5



5. x7b-1,0, 1, 2% shtQ of, B 4] 1 - 2x = 3x - 4 9] S

D -1 @0 ®1 @ 2 ® it
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® 5a =5b

@ a-4=b-4

D a+2=b+2



7. AP 2x 13 = 9L B SAste] S4 4 a = b ol
a+c=b+ca B ol gRT k. ol ¢ o gL

@® -9 @ -3 ® -1 @ 3 ® 9



@ 3x+5x=-2+1

@ 3x-5x=-2+1

@ 3x+5x=-2-1

® 3x-b5x=-2-1

® 3x+5x=2-1



the 3 AR Aol obd 2

o

BT 2H?
® ala+3)=2+3a @ 2x(x+3)=2x2-3

® 4x-4=3x-4 @ 3(5-2x) =2(3x-5)
2(x+2)  5+4x
@ 3 6
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3x+7=-5x-1

= |
L]

3x+5x=—1—|:]

I:]x

® 7,8,-8,1 ® 7,8,-8,-1

® 7,2,-8,-4

® -7,8,-8,1

@ -7,8,-8,-1



11. 974 9] sk veia) Yk B shute?

@D b5x-—1=3x+3 @ x-2=4x-6-x
® 2(x-3)=8x-6 @ —(x-2)=x-2

®1-(x+1)=-2x+2
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® 6<9



14. th& A FolA] F4o] opd 7129

Mo

DO x-5x=7 @ x+2x=3x ® 7x-9=0

@ 2x-3 ® 443=7



x+3=2x+4+2

2x+ 2

[} .
X,T‘iﬂi.

ey

g
of

gl
N

2x+ 2

x+3,%9 .

® 9 .



